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Rules:

MXNPN 1N MYva MmN poivn - One who is involved in one NIXN is exempt from
other MxnN

MY N1?12 - When a common word is found in 2 different O?77109 and thus a law
stated regarding one of the subjects of the D?P1DA is applied to the other

Concepts and terms:

INY N71’T - Temporary place of living
Yap N1’T - Permanent place of living

1MNMTN 1?Y312wnN - Living in the N21D in the same way as one would live in his

house
Py 793 2v1wa - Wooden item which cannot hold things and can therefore not

become NNV
MWYN 1N R NwWYN - TID must be placed down and one cannot use T3P which
was already there from the moment it became valid

73D nwnY mavn:

TaY% - 2 items within 3 D?TTAV of each other are viewed as connected

nvIPY 19T - If there is up to 4 MNN of invalid T3D on the edge of the roof, the
wall is viewed to bend at its top towards the beginning of the valid T3D and the
121D is valid from that point and inwards

RNXTIN P’DN TIA - A wall is viewed as continuing upwards

719N NX?TN - A partition suspended in the air

X713 - The size of an egg

RPIA PN NWY NIX¥N - A positive MXN bound to a specific time
1772y1 AN2N MXN - A MXN which is performed via sinning

27TN - The requirement for the 0?3?13 Y17N to be beautiful
701 - When a significant part of a 1712 is missing

MIWN - A tree which was served as idolatry
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NTTIN 7Y - Acity where the majority of its residents worship idolatry
177y - Fruit which is grown in the first 3 years of its tree’s life and is forbidden to

benefit from
N - The gift of produce to a 1N3

YNNT - Produce bought from an ignorant person who cannot be trusted to have

tithed it
73w IWYN - 1/10 of one’s produce which must be separated and eaten in ©?Yw17?

TAN T7I¥ A7NY - The requirement to tie the 1717 together with the D?D T and
maay

9’DIN 1 - The prohibition of adding onto a mxn

n121yY3 yMw - The mechanism by which one can fulfil his obligation to say

something by hearing it from somebody else and both of them intending for it to
cover both of them
nMV’NW - Ayear every 7 years during which land may not be worked and produce

grown has restrictions due to its sanctity
wWTPNY 131 - A commemoration to what occurred in the wTpPRN N7

I - New grain which grew that year and may not be eaten until the 11y 127p
has been offered on the 2nd day of TTD4

T1D? - The 1 NN base which jutted out of the bottom of part of the TT211D

0PN T1D?73 - When water is poured on the 12110 whilst the morning 771N 1277 is
offered each day of mM2D

NANRIWN N?2 NMNY - Rejoicing in the WTPNN N?1 over the 7NN T1D”)
mInwn - 24 groups of 073N who serve in the WTPNN N?1 in a rotational system
02290 1Y - 12 large M¥N which are kept on the 11T7W from one NAW to the next
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e The mx¥n of living in a N210 on MND:
Requirements for a N21D to be valid:

0?PAM: A 121D must be less than 20 MINN tall, such that the walls could be made in a
temporary way, since it must be a ?RY N1?7T’ - temporary place of living.
NTIN? " Itis valid, since it must be a ‘YaP N1?T’ - permanent place of living.

— DA If the TID of a NI31D serves as the floor of another N31D and can just
about hold some utensils, the top 21D is valid which invalidates the bottom
131D since there is T3D over his N21D serving a different N21D.

NTI? " The top ND is invalid since it’s a 7RIy N1?T, so the bottom one is
valid.
A N2D must be at least 10 TO?11AV tall, since there is a requirement of * 17¥3 12wn

1MTN' - living in the 121D in the same way as one would live in his house.
It must have minimum 3 walls of width 7 Dn’11aV.

— If 2 full walls are perpendicular to each other, the third wall can be just over 1
Tav wide and be considered connected to the wall via ‘“T12%’ - a nwnY navn

73D which states that 2 items within 3 ©@?TTaV of each other are viewed as
connected. The remaining 3 @?TT1aV on the other side of the wall should have a
doorframe, i.e. a lintel and post at the edge of the 7 O?TTaV [see diagram].

— If 2 full walls are opposite each other, the third wall must be at least 4 O?’TT9V,
since the third wall is also functioning to connect the two other walls [see
diagram].

The majority of the roof must be covered in TID.
YRPW N?1: TID which is placed on the roof more than 30 days before M2 is
assumed to have been placed there without the intention of using it as T3D so is invalid,

unless his intention is explicitly expressed to be otherwise.
%90 n?2: It's valid even if not placed there for the sake of the mxn.

If there is invalid 73D hanging above or below one’s valid 73D, e.g. an overhanging
tree or a sheet, the N2D is invalid.

— A sheet which is spread over a two-poster bed doesn’t invalidate the area below
it, since its roof is less than 1 TTaV wide.

— If one mixes invalid T3D with his T3D, it is valid if the majority is valid.
T3D must (a) grow from the ground and (b) not be able to become RNV, whereas

the walls can be made of anything.
— But ifitis the roof of one’s house all year round, it’s invalid.
- T? 1 Wooden beams which are at least 4 m?T1aV wide are invalid
121770, in case one comes to rely on the roof of his house.
’RN "7: They are invalid if they are at least 3 D?TT9V.
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NTIN? 1: According to ’RPW N1, in order to use the roof as TID in a case
where the boards are between 3 and 4 0?11V, every other board must be

removed so thatit’s no longer considered to be the regular roof of a house.
According to 990 M3, it’s enough to loosen the nails of the boards.

RN 2 Every other board must be removed and other valid T3D added,
in case one comes to use the roof of one’s house as his T2D.

— A flat piece of wood which had been part of a bed is invalid as T3D even though
it is in the category of ‘P¥ 793 *VIw4’ - wooden item which cannot hold things
and can therefore not become RNV, since when it was part of the bed it could
become RNV and it hasn’t been altered.

- Py 792 7v1wA can become NNV if they support the weight of people with
certain forms of NINMV, as long as they are designated for a use which
supports a person’s weight; if so, they are invalid as TID.

o TI1: The assumed use of a large reed mat is as shade and not to
lie on, so it is valid as T3D unless explicitly designated for lying on.
ATY?YR ": This is true of small mats too.
One may not use bundles of at least 25 branches or pieces of straw as his T3D, so

that one doesn’t come to use bundles which were placed on the roof to dry, which would
come under the invalidation of 1wy 19 RN NMWYN’ - TID must be placed down and

one cannot use T3D which was already there from the moment it became valid.
— If one hollows out a haystack such that the hay remaining at the top is the TaD,
it’s invalid because of 1TwyY1 17 R nwyn.
There is a 727D AwWNRY N2%0 called ‘MpPY 19T which states that if there is up to 4
MNN of invalid 73D on the edge of the roof, the wall is viewed to bend at its top
towards the beginning of the valid 73D and the N21D is considered valid from that point

and inwards.
— Ifthereisagap of empty space at the edge of the roof, that wall is only considered
to be a wall of the NP if it’s within 3 D?TTaV of the TID, using T12Y.

If the walls are at least 10 m?T1aV tall, they are valid even if they don’t reach the 73D,

as long as they are within 3 ©?TTAV of the TJD horizontally. This utilises the 12%n

77D NWNY of ‘RNX?TIN PYDR T\’ - the wall is viewed as continuing upwards.

— DI If the walls come downwards and don’t reach within 3 D?11aV of the

ground, they’re invalid since they aren’t considered partitions.
DY "1: As long as they are 10 D?T19V tall, they are valid since a ‘71%n xR’ -
partition suspended in the air - is considered a valid partition.

AUY?YR ": If one leans TID against a wall and there is no independent roof, the N21D

is invalid.

0?PAM: It's valid, and the top part is viewed as the roof.
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0?PAM: One who is underneath a bed which is raised at least 10 O?’TT1aV above the
ground is not considered to be in the N31D, as he is underneath another temporary roof.
NTIN? " He is considered to be inside the 231D, since the temporary roof doesn’t
nullify the permanent roof of the N21D.

— T’NAMT: One may use the end of a bed as a wall of the N21D, since it must be a

temporary place of living.
NTI? ": This is invalid, since it must be fit for permanent living.

— TO’NATT: A NND built on top of a wagon or ship is valid, as long as it can
withstand a regular wind which is common on dry land.

— D?PAM: A N2V built on the branches of a tree or on top of a camel is valid, but
it’s forbidden to climb onto it on 21V 1.

- If 3 walls are built on the ground and a 4th is built on the tree’s branches,
one may climb into the N31D on 21V DYV if there is a floor attached to the

walls, apart from the branches.
If there is enough T3D on the roof of a N31D to cover the majority but it's arranged
such that only the minority is covered, it’s valid.
If TID covers the majority of the roof but is unlikely to remain there for a long time,
it’s valid for as long as it’s there.
If the 73D is thick such that no stars can be seen through it, it is valid.

Trees may be used as the walls of one’s N21D.

Fulfilling the mxn:

¢ One who is on the way to performing a m¥n is exempt from the M¥XMN of N2D, since
‘MXNN 1N MVva M¥Na PrIvn’ - one whois involved in one MXN is exempt from other
nnxn.
An ill person is exempt, since the obligation is ““1TN 1?¥3 12wnN’ - to live in the N1D
in the same way as he lives in his home for the rest of the year - and an ill person would
move to a more comfortable place if available.
One may eat snacks outside of the N31D, since the obligation is 1MTN 1?y312wn’.

— 7NIT 12 127 1271 and YR?Y13 1271 were particular to eat even snacks in the N21D,
since this is preferable.

— PITX M ate bread which was smaller than a ‘X713’ - size of an egg - outside of
the N21D, and neither washed his hands beforehand nor recited NP N3721
afterwards, since according to him this is not considered to be a meal.

AMY?YN "1 One is obligated to eat a bread meal every day and every night of mM2D,

since this is what one does regularly in his house.
0?PAM: This is not an obligation, just like in his house he isn’t obligated to do so.
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— On the first night, one must eat a ‘M?12’ - size of an olive - of bread, as learn from
a ‘MW N1?1)° - when a common word is found in 2 different 0?1943 and thus a
law stated regarding one of the subjects of the D?1D4 is applied to the other -
with NXN on the first night of MDA.

- A1Y?YR "1 One who didn’t eat a N?13 of bread on the first night can fix this
by doing so even on NIXY ?73712W night, just like the MJ27P of the first
day can be offered up to an including NIXy 7NW.
0?PAM: This cannot be fixed.

Despite women being obligated in nX¥n, they are exempt from living in a
131D since it's a ‘RPN NN NWY MY’ - positive M¥N bound to a
specific time.

e YNPW N?1: 1217171 one who sits with his head and the majority of his body inside
the N21D but eats from a table which is in his house doesn’t fulfil his obligation.
%90 n?2: This is permitted, as we are not concerned that he will follow after his table.
TN 121717 one must educate his child to live in the N31D once he is old enough not
to continually call for his mother until she comes.

1?11 ?RNW: This is an obligation from when the child is born.
One may leave the N3D if it is raining to the point that the porridge-like dishes are
getting ruined.

— This is a bad sign, like a master who commands his servant to fetch him water
and he then pours it at his face.




pRTRl-

TIMECIMISHNA

summaries
11D

e The mXn of taking the 0?3?n Y17 (4 species):

General invalidations:

e Ifit’s stolen, it's invalid since (a) one can only fulfil his obligation on the first day if he
owns it, and (b) it's a ‘N172Y2 NIRAN MXN’ - MXN which is performed via sinning.

If it's dry; if its top is chopped off; if its leaves came off and were tied back on, it’s
invalid because all of the ©@?3?13 Y27N are compared to the A1MNN which the NN

requires to be “1T’ - beautiful.
197V ': Only the M1INN must be 717TN.
— If some leaves remain attached, it’s valid.
If it comes from an ‘MIWN’ - tree which was served as idolatry, or an ‘NTTTaN 1Y’ - city

where the majority of its residents worship idolatry - so must be burnt, it's invalid
since it’s viewed as if it's already burnt and thus lacks the minimum size.

Invalidations which apply specifically to a 1717:
NTI? " If a A%1Y’s leaves are spread out and droop down, they must be tied to the
spine.
As long as the entire spine of the 1717 is covered by leaves, even if the top of each leaf
reaches only to the bottom of the next leaf above it, it’s valid.
The minimum height of the 0?DTN and Ma7y is 3 O’TaV, and 4 D’T1aV for a 2717
since an additional 119V is needed to hold onto it and shake it.

Invalidations which apply specifically to D?DTin:
e If there are more berries than leaves on a DTh, it’s invalid unless he removes some
of them, since it isn’t ‘1 T".
— This may not be done on 211V 107?, since making it valid is like fixing it.

Invalidations which apply specifically to ma1y:

e The Nax9¥ is a type of N2y with round leaves, and is not the 27y about which the
1N speaks.

e IfanN17y grows in a field which is survives on rainwater, it’s valid since the n1In
speaks of M7y of a river only because that’s a common case.

Invalidations which apply specifically to an A1INN:

e Ifitis ‘N9’ - fruit which is grown in the first 3 years of its tree’s life and is forbidden
to benefit from, or ‘PN’ - the gift of produce to a 1N3 - which became RNV so must
be burnt, is invalid since the NN requires the 1?3711 Y17IN to be things from which
one can benefit.

— IRPW N22: [fitis “NNT’ - produce bought from an ignorant person who cannot

be trusted to have tithed it, it's invalid for the same reason.
%90 n?2: It’s valid, since one could make himself poor and be permitted to benefit

from it without tithing it himself.
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NNV NP1IN and 23w WY’ - a tenth of one’s produce which must be separated and
eaten in M?9W171? - may not be used 1317170, so that it doesn’t gain the capability of
becoming NNV by being wet by the water of the other 1?37n.

If a wart can be seen on the majority of the A1INN, it’s invalid since it isn’t ‘1T

If it grew with a DvV?a (stalk at the top) and it came off; if its outer layer is peeled
off; if it’s cracked; if there is a hole going from one side to the other; if any of the 1NN
itselfis taken out, it's invalid since it’s “1DT’ - when a significant part of a 1712 is missing.
A very dark AN is invalid in a place where this is uncommon for @?A1NN, since it
isn’'t 1T

T’RN "7: A totally green AMNN is valid.

NTI? 7 [t's invalid, since it is unripe.

T?RD "1: An A1INNR must be fully grown, and its minimum size is the size of a walnut.
NTIN? M [t's the size of an egg.

NTIN? " [ts maximum size is such that two of them could be held by one hand, so that
it doesn’t drop as one is switching the @731 between his hands.

D1 "7: There is no maximum size.

How the 1?3?13 ¥17N should be taken:

e INYPRW? " To fulfil one’s obligation, one must take: 3 D7D T, since 3 words are used
to describe it; 2 M2y, since the NN talks about them in the plural; 1 2717, since it’s
written in the singular, even though it is read in the plural form; 1 A1INN.

R2?PY "1: Only 1 is needed of each, since they are all compared to the A1INN.
— Later, YRY1w®W? "1 changed his opinion to only requiring one valid DT which
meets the requirements of ‘1Ti’, but still ruled that another 2 should be taken.
NTIN? " It is learnt from a MW 17171 that “TAR 721X AN’ - the 21717 must be tied to
the DTN and M2y, so it must be tied with its own species and not a 5th 1?1, in order
that it not be considered ‘42D %2’ - the prohibition of adding onto a mxn.
T’RN : There isn’t an obligation to tie it, so it isn’t part of the MXN and therefore any

material may be used.
— The great men of @?Yw17? tied them up with 1917 leaves and then covered that

with gold to beautify the mxn.
Y9N N?2: The 0?2?11 Y17N should be shaken at the beginning and end of the P19 of
“n1% 17, and at ‘R NY?WIN ‘1 RIN’, as learnt from O?P1DA.
'NPW N’2: They should also be shaken at ‘N3 nm?Y¥in ‘N NIN’, since that’s a
continuation of the same P1DA.
— NR2?PY " testified that he saw YR?7HP3 1271 and ywin? " follow 790 n22’s
opinion.
If one returns home before nightfall having not yet shaken the @?3?11 Y 11N, he must
do so immediately and if he starts eating first then he must stop to do so.
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— If one doesn’t know how to read should fulfil his obligation of 71 by hearing
it from somebody else who is obligated, via ‘N21y3 ymw’ - the mechanism by

which one can fulfil his obligation to say something by hearing it from somebody
else and both of them intending for it to cover both of them.
- He should answer ‘1-719%1" after each phrase.

- Ifhecan only hear it from one who isn’t obligated, e.g. a woman, he should
repeat it after them.
If one returns home before nightfall having not yet shaken the @?3?11 Y 11N, he must
do so immediately and if he starts eating first then he must stop to do so.
During ‘NVNW’ - a year every 7 years during which land may not be worked and

produce grown has restrictions due to its sanctity - one may not pay an ignorant person
for an A1NN, since if it was picked during NnU?NW then it has NVNW status, and this

is transferred onto the money. The ignorant person is likely to violate the restrictions
placed on this money, so instead he should pay more for the 1217 and the seller should

give him the A1INN for free.
RN??7INTN the 0?2’ Y17N are taken on all 7 days of MIJD in the wTPHNN N1 and
on the first day alone elsewhere.
— 7NIT 12 MY 121 instituted that they be taken on all 7 days ‘@TpPRY 131 - as a
commemoration to what occurred in the wTpPnRN N21.

- When the wTpPRnN N?1 stood, ‘WTM’ - new grain which grew that year -
would be able to eaten from when the 1121y 12717 was offered on 16th
1D?), and in distant locations they could assume that this was done by
midday. Once the W TN N?1 was destroyed, 7R3T 12 1AT? 121 instituted
that wTTT may not be eaten until 17th 1D?), in case the wTpPRN N1 will
be rebuilt on the night before 16th 10?3 and the 121y 117 won’t be
offered until late afternoon.

It’s forbidden 1327171 to take the @737 Y11IN on NAW even in the WTPHNN N?1, unless

it falls on the first day, in case one comes to carry it in a public domain.
— If the first day falls on Naw, one brings his 0?3710 Y17N to the shul on Friday.
— D1 "7: If one does carry it into a public domain before fulfilling the mXn, he is
exempt since this was done in preparation of a mxn.
The @?2?1 Y21IN aren’t X112 even for women who are exempt from the MIX1n, since
(a) they are useful for others, and (b) she can perform the m¥n is she wishes to.
One may return the @?3?12 Y 11IN to their water.
NTIN? "1 [f 21V 01 doesn’t fall on NAW, one may even add new water; on TV N1,

one may even change the water, even though it’s slightly burdensome.
131717TN, one must educate his child to take the @737 ¥211IN from when he understands

how to shake it.
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11NV NPIN and 23w IWYR’ - a tenth of one’s produce which must be separated and
eaten in M?9W171? - may not be used 1317170, so that it doesn’t gain the capability of
becoming NNV by being wet by the water of the other 1?37n.

If a wart can be seen on the majority of the A1INN, it’s invalid since it isn’t ‘1T

If it grew with a DvV?a (stalk at the top) and it came off; if its outer layer is peeled
off; if it’s cracked; if there is a hole going from one side to the other; if any of the 1NN
itselfis taken out, it's invalid since it’s “1DT’ - when a significant part of a 1712 is missing.
A very dark AN is invalid in a place where this is uncommon for @?A1NN, since it
isn’'t 1T

T’RN "7: A totally green AMNN is valid.

NTI? 7 [t's invalid, since it is unripe.

T?RD "1: An A1INNR must be fully grown, and its minimum size is the size of a walnut.
NTIN? M [t's the size of an egg.

NTIN? " [ts maximum size is such that two of them could be held by one hand, so that
it doesn’t drop as one is switching the @731 between his hands.

D1 "7: There is no maximum size.

How the 1?3?13 ¥17N should be taken:

e INYPRW? " To fulfil one’s obligation, one must take: 3 D7D T, since 3 words are used
to describe it; 2 M2y, since the NN talks about them in the plural; 1 2717, since it’s
written in the singular, even though it is read in the plural form; 1 A1INN.

R2?PY "1: Only 1 is needed of each, since they are all compared to the A1INN.
— Later, YRY1w®W? "1 changed his opinion to only requiring one valid DT which
meets the requirements of ‘1Ti’, but still ruled that another 2 should be taken.
NTIN? " It is learnt from a MW 17171 that “TAR 721X AN’ - the 21717 must be tied to
the DTN and M2y, so it must be tied with its own species and not a 5th 1?1, in order
that it not be considered ‘42D %2’ - the prohibition of adding onto a mxn.
T’RN : There isn’t an obligation to tie it, so it isn’t part of the MXN and therefore any

material may be used.
— The great men of @?Yw17? tied them up with 1917 leaves and then covered that

with gold to beautify the mxn.
Y9N N?2: The 0?2?11 Y17N should be shaken at the beginning and end of the P19 of
“N% 1T in Y90, and at ‘N3 NY7wIN N RIN’, as learnt from D7 PIDA.
'NPW N’2: They should also be shaken at ‘N3 nm?Y¥in ‘N NIN’, since that’s a
continuation of the same P1DA.
— N2?PY " testified that he saw YN?Y13 127 and ywi? " follow %90 na’s
opinion.
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— A N3 fills a golden jug with 3 M7 of water from the TM%?w spring, and brings it
into the wTPNN N?1 courtyard through the 0’1NN 1YW, as the 191w is blown 3
times.

NTI? ": They would use only 1 M7%.
Even though one must generally walk up on the right side of the 7211 ramp,
surround the top of the 121N and descend on the left side of the ramp, this 13

turns left immediately to the south-west corner, so that the water doesn’t turn
smoky from the 112711 fire.

There were 2 silver bowls on the south-west corner, with a wider hole in the one
through which the wine is poured and a narrower hole in the one through which
the water is poured, so that they’d reach the canal at the bottom simultaneously.
NTI? 1: They only appeared to be silver, because of the wine which was poured

on them daily.
- Ifhe pours the water and wine down the wrong bowls, it’s still valid.
The 113 must lift his hands up high whilst performing the @?nNPN T1D?] so that
everybody can see how he is doing it, since the O?P1TX didn’t agree with this
service.
On Friday, they fill up a regular utensil with the water needed for the @?1PN T1D?]
on NAw and place it in the wTPRAN N?31, so that it wouldn’t become invalidated
by being in a wWTPRN N’1 utensil overnight.
- If the water spills or is left uncovered so invalidated, water from the 7172
should be used since water cannot be transported from the T7?® spring
through a public domain.
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1) The ‘DaAaMwN N?2 NMINY’ - rejoicing in the wTPNN N?1 over the O’NN TID?3 -
applies for 5 days of MDD, or 6 days if the first day falls on N1wW, since music and
dancing is forbidden 13277TR on N1W and 11V OY.

— People were known to say that one who hadn’t witnessed a NAN1Wi N1 NTINWY
had never seen true joy.

— There were balconies at the top of the courtyard for women to stand there and
watch.

— There were huge golden candelabras with 4 golden bowls on each one, and
young 0?3113 would climb up ladders, fill up each bowl with 30 A17 of oil and light

them.
-  The wicks were made from worn out trousers and belts of @?3n2.

- The candelabras’ light would reach the entire n?9w17.
— Righteous people would dance in front of the people, some juggling with fire, and
they would sing songs of praise for those who don’t sin.
— The 10?717 would play instruments and sing on the 15 steps going from the
courtyard to the outer courtyard (0?w1 NA1y).
— 2 D?2N3 stood at 11IP?1 1YW, a gate of the courtyard, and they blew trumpets
when an appointed 1Nn3 called upon the 0?3113 to wake up and begin their service.

They walked downwards and blew the trumpets again when reaching the tenth
step, and when reaching the floor of the m?w1 N1y they would blow long blasts

lasting until they reached the eastern gate going out to N?21n .

- When walking towards the T™%7?® spring, they begin by walking
backwards and facing the wTpPRN nN’1, showing that they are unlike
idolaters who bowed down in the opposite direction of the wTpnRN N?1.
NTI? 1: They would give thanks to Hashem and show that they still hope

to him for the future.
Every day, at least 7 sets of 3 blasts are blown in the wTpPRN N?1: for the

opening of the gates, and 3 sets whilst the 1?71 sing as the morning and
afternoon T?RIN MR are offered.
o IfaqpDin 1277 is offered on that day, 3 more sets are added.

o On Friday afternoon, a set was blown to signal to people to stop
working, and another set was blown at the beginning of Nnaw.

On Friday of m31D, there would be a total of 16 sets (48 blasts),
which was the maximum in one day.

e The 24 MINWN on 11V O1?:
e On the first day of m21D, the QD112 1277 consists of 13 bulls, 2 rams, 14 sheep and 1

goat; the number of bulls is reduced by 1 each day.
— These were split between the ‘MINWN’ - 24 groups of M?2N3 who serve in the

WTPRPN N1 in a rotational system, each offering 1 animal and some offering 2
sheep. They rotate which animals each 1wn offers each day.
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On NIXY 73’NW, the QDN 12177 consists of 1 bull, 1 ram, 7 sheep and 1 goat; the
animals were offered by only 10 of the M71NWN, based on a lottery.

On the @731 wWHYW (MDA, MY11W and MMND), all 24 MINWA receive equal shares of
the M2 which are offered because of the 21V 1Y, e.g. the N?N1 N1y 12717 which
each man who comes up to the wTPRN N?1 offers, and of the ‘0?3890 ANy’ - 12 large
M¥n which are kept on the 1T1Y® from one NAW to the next.

— If my12w falls on N1w, each 1N3 receives a portion of the ‘DTN *NY’ - 2 large
loaves of bread, so those distributing should make sure to specify to each 113
that he is receiving Y1211 from the @TYN ?NW and N¥ 1N from the 780 OMY.

— If21v 17 falls on Friday or Sunday, all M17nwn receive equal shares of the TTTY
07390, since they are forced to stay in the w TN N1 on NA1W too.

- Ifit falls on Thursday or Monday, 2 out of 12 of the @739 DY are split
between the 22 MW whose turn isn’t ending or starting that Naw.

— TNIA1T: [n general, the 1MWN ending their week of WTPNN N?1 service and the
W beginning theirs would split the 173470 OMY equally.

NTIN? " Those beginning receive 7 MX1, in return for the fact that they are
‘finishing off’ that day’s service which the previous 19w had begun.

- Those beginning share the ©?2an OMY in the north part of the courtyard,
which has a higher level of holiness, since they’'re ready to serve. Those
finishing share them in the south.

o The IWN called ‘NAY2’ always shares them in the south, because
of what one of their daughters did by marrying a Greek officer and
disgracing the T1a11.

» Furthermore, (a) their ring used to hold animals in place
when slaughtering was fixed to the ground, and (b) their
window through which they could put their knives into the
room where they were kept was permanently closed, so they
were forced to borrow another 1Iw’s ring and window.
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